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BapiaHT 1
1. Xy'= y2 +1;
2. (y2 —3x2)dx+2xydy =0;
3. (2x—-2)dy —(x+2y-3)dx =0;

4, y'+L+ x? =0, y(0) =1;

1+ X

9. 4y". |y =1;

10. y'"'+3y"'+2y =0;

11. y"-4y'+3y=0, y(0)=1 y'(0)=0;
12. y"'42y'+y = 3xe?*:

13. y"'-2y'-8y =e* —8cos2x;

4. y'+y=—35-;
C0S® X
[ dx
_:X_y’
15, | Ot X(0) =1, y(0)=—1.
dy
— =—4xX+Y.
L dt




BapiaHT 2
1. \/1— y2dx — ydy =0;

2. Xy'= y(l+|n)):);
3. (X+2y+1)dx—(2x—3)dy =0;
4, y'ctgx—y:2c032x-ctgx, y(z):o;

5 (1+ xz)y': Xy + x2y2;
6. (2x+ ye™)dx + (1+xe*¥)dy =0;

3+sin3x;

7.y" =x
8. x3y"+x2y':1;
9. y"'(1+y)=(y)’ +y"
10. y'V —-6y'"'+9y'=0;
11. y"-2y'+3y =0, y(0)=0, y'(0)=1;
12. y''+4y = XC0S2X;
13. y"—2y'+5y =4e* -sin2x + 6xe”*;
X

14. y'-y = © .
' eX 41’

@f—x_y
dt ’

d—y:x+y.

L dt

15.

-

x(0) =1, y(0)=0.




[

2. y'=e Y+,

w

BapiaHT 3

YL+ x2)y'=1+y?:

X

y
X

. (By+3)dx—(2x+y—-1)dy =0;

4, y'—3x2y —x3=0, y(0) =1,

.3
5. y'—"y=—x3y?%
X

(o2}

0o

o

10
11

12
13

14.

15. <

: (x2 —5y)dx+ (y2 —5x)dy =0;

v 2

y' =CoSX+ X ;

3

. y''=2y'-ctgx =sin” X;
Y Y=(y) + (')} =0;

y —5y"+6y'=0;

y"+2y'-8y=0, y(0)=2, y(0)=1;
y'+2y'+5y = 7e *sin2x;

y"—4y'+4y =2xe”* +cosX;

x(0)=1, y(0)=2.




BapiaHT 4
: xx/l—7dx+\/1—7dy=0;
CXY'-y = 4x° +y2;
. (Xx+8y—-9)dx—(10x—y—9)dy =0;
2y 1-x 3
1-x2 (1+x)° y 2

5. y'=Xy = xy3;
~(In y—2x)dx+(§—2y)dy=0;

[

w N

4. y'—

(o]

cyV =3x?% + 2sinx:
8. y"—lzlenx;
X

A+ () =Yy
10. yV —2y"y"=0;
11. y"'-3y'+2y =0, y(0)=-3, y'(0)=1;

12. V' 42y'+y = e X (X% + 6X):

\l

(o]

13. y"—4y'+ 3y =4e* +cos2x;

14, y'—y'= ,
oy e +1
[ dx
—=X-Y,
15. - Ocl“ X(0)=2, y(0)=1.
—y:—4x+4y.
L dt




BapiaHT 5
1 y—xy'=2(1+x2y"):
2. xy':xsin){+y;
3. (5x—=7y+Ddy+(x+y-1)dx =0;
4. (X =1)y'=xy =x" -, y(0)=1;
5. xy'=3y—x4y2;
2 2 X
6. (2xye* +Iny)dx+(e* +y)dy:0;
7. y'=Inx;
8. y'tgx = y'+1;
9. y"'(L+Y) =5(y")*;
10. y'V +y'"'=0;
11. y"+8y'+16y =0, y(0)=2, y'(0)=-1;
12. y"+y =(X+3)CcosX;
13. y"-2y'-8y =2e* —8c0s2x;

. 1
sin x

[ dx

a

15. 1 x(0) =1, y(0)=3.

dy

— =—4X+Yy.
L dt




BapiaHT 6

1. y'—

x X |<
0 x| N

: t+oy
2. Yy = X
y 8X+Yy
3. (By+10x—-1)dx+(Bby+7x—4)dy=0;

X2

4, y'+2xy:3x2 e, y0)=1
, 1 ctgx
5. y'+ y=y° %x;

sin? x sin
. 3eYdx + (x%eY —1)dy =0;
3

(o]

7. y" -SiN~ X =SIN2X;

(00]

1 1 1
LY =X+ )Y
X

9. 2yy"=(y')*;

10. y'"'-y"-9y'+9y =0;

11. y"+4y'+20y =0, y(0)=-1, y'(0) =1,
12. y"-6y'-7y =4xe™;

13. y"+2y'+5y =7e " cos2x +5e7%;

14. y'+y = 1
COS2X
— =-2X+Y,
15 ] Ut x(0) =1, y(0) = 3.
dy
— =-3X+2Y.
L dt



BapiaHT 7
1. (xy + x3y)y'=1+ y2;

2. xyy'=x +y*;
(X+y+2)dx+(y—x-1dy=0;

w

a. xy'-y=y?-sinx, y(. )—2

5. y'+2y:x2y2;

(3x +Zcos)dx—2Xcoszxdy 0;
y y y

7. y"'=Xx-sinx;

o

8. y"+y'tgx:sin2x;
1 3/I
9.V =-"=;
Jy

10. y" —3y"'4+3y"—y'=0;

11. y"-4y'+13y =0, y(0) =1, y'(0)=2;
12. y'-y'=-9x

13. y"—2y'+10y =8e*sin3x + 9xe**;

2X
14. y'-4y'+by =

COSX

[ dx
a:2x+ Y,
15. - q x(0)=1, y(0)=2.
—y:—6x—3y.
L dt




BapiaHT 8
1. (X+ xy)dy — (x2 +1)ydx =0;

2. Xy'+xtg )): =Y;

. (X+y—-2)dx—(3x—y—-2)dy =0;

w

X2

4. y'+2xy=x-Inx-e™ , y(@)=0;

2x+y:y2-tgx;

5. y'Ccos
. (3x% +4y?)dx + (8xy +eY)dy =0;

7. y''=X-COSX;

8. (1—x2)y"—xy':0;

9. y tgy =2(y")*;

10. y''+y''-y'-y =0;

11. y"-6y'+9y =0, y(0)=-3, y'(0)=1;
X

12. 4y"+4y'+1=4x? -e2;

(o))

13. y"+6Yy'+10y =17e">* cos x +15xe>*;

14. y'+9y = ;
Yy sin 3x
95:7x—3y,
15 | Ot x(0) =1, y(0) = 2.

d—y=x+5y.

dt
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=

. y'=(2x-Dctgy;

2. xy'+yInX:0;
X
. (X+7y—-8)dx—(9x—y—-8)dy =0;

w

1 T
4. y'-yctgx = ——, —)=0;
y —YycClg sin x Y(Z)

LYY =Xy,
@x—1=Vydx— 2y - Y)dy =0,
X X

ol

(o2}

_sin2x
oS> 2X
[} y'
8.y =X—-;
y X

9.y y2 =1

10. y'"'-64y'=0;

11. y"=2y'+y =0, y(0)=-1, y'(0)=3;

12. y"—10y'+ 25y = 4xe™;

13. y"—4y'+13y =18e**sin3x +19xe™*;
—X

14. y'+2y'+2y = ce;sx ;

%=8x—3y,
15, | At x(0) =3, y(0)=1.

dy
— =2X+Y.
it y




BapiaHT 10
1. (1+e*)ydy —eYdx =0;

2. y':x+sinx;

X X
. (X+3y+3)dx—(9x—-3y+4)dy =0;

w

1 2 .- T U
4. Xy'-y = X°sinx, ==
Xy'=y y(5) =5
Y42y = yPe¥;
: (y2 + y )dx + (2xy + tgx)dy = 0;
cox > X

i COSX
sindx’
CYUtgx = y'+1;
2y-y =1+(y)%
10. y'V +2y'+y=0;
11. y"+4y'+4y =0, y(0)=1 y'(0)=-2;
12. y"'+3y'=8x;

ol

(o2}

0o

O

1

w

. Y"+6Yy'+13y =276 cos2X + 25xe**;

X

14. y'-2y'+2y =

sin? x

15. < x(0)=1, y(0)=1.




BapiaHT 11
X

1. (y2 +3)dx—exydy:0;

XYY '= X2 + y2;
. (X=2y+3)dx+(2x+y+2)dy=0;

2x+y=tgx, y(0)=-1;

2

3

4. y'cos

5. y'+y-tgx:y4cosx;

6. (3x2y+2y+3)dx+(x3+2x+3y2)dy:0;
L Sin2x

cos? 2x

8. x3y"+x2y':1;

9. y3 : y" =1;

10. yV +4y"+4y =0;

11. y"+4y'-21y =0, y(0)=2, y'(0)=-2;
12. y'-4y = X2 +2X:

13. y"—2y'+17y =13e*sin4x +14xe**;

e—X
14. y"'4+2y'+y=——;
X
ax =3X+Y,
15.

NS

x(0) =2, y(0)=3.

dt
dy
— =X+3y.
dt y



BapiaHT 12
1. (1+ yz)dx— (y+ yx2)dy =0;

2. (X=y)y'=2x+YV;
3. (2x+y-2)dx—(2x+2y—-1)dy =0;

4. y'+iy= X, y(@)=1;

5. Xy'+2y + x°y3e* =0:

6. (sSin2x —2cos(Xx + y))dx —2cos(x + y)dy = 0;
7. y'=X-sinx;

8. y'xInx=y";

9. yA-Iny)-y +@+Iny)(y')*=0;

10. y'V +8y''+16y =0;

11. y"+y'+y=0, y(0)=1, y'(0)=-1;

12. y"—8y'+16y = 6xe**;

13. y"—8y'+17y =17e* cos x +18xe”;

14. y''+4y =1tg2X;

dx
— =2X+Y,
15. 1 Ocllt X(0) =1, y(0) =2.
& =—6X —3Y;
dt




BapiaHT 13
1. y'=(3y + 2)tgx;

2. xy'+y|n2¥:0;
X

3. (X+3y+4)dx—(3x+ y—6)dy=0;

4. (1+ x2)y'+y =arctgx, y(0)=1;

oy Y

_x—3: x—3;

5.y

2 X 2 X2
6. (xy +y2)dx+(x y—y3)dy=0;

7. y"'=1g?3x:
8. y'=Yy'+X;
9. 2yy"'=1+(y")?:

10. y'"'+4y"+3y'=0;
11. y"—-y'-2y =0, y(0)=-2, y'(0)=1;
12. y"'—4y'+3y = (x° +2)e>*;

13. y"—4y'+ 20y = 21 sin4x + 22xe**;
er
14. y'-Ay+Ay = o
X
dx
dt
dy

— =-3X+2V.
dt y

=3X+Y,
15.

N

x(0)=1, y(0)=3.




1.

2.

3.

4.

S.

(o]

\l

(S+

BapiaHT 14
2>Q/y'=1—x2;

y

xy'ln—:x+ylny
X

;;
(X+8y—-9)dx—(10x —y —9)dy =0;
y'+3x2y = X3€_x3 , y(0)=0;

|X Xy
2y'—— = ;

Y y x°-1

1 3y2

2

2y
= )dx —=5dy =0;
X x4) x3 Y

y''= (X +1)e3*:

8.xy"—y'= xe*;

9.
10
11

12
13

14

15. <

y"(L+y) =5(y")%;

Ly 3y 2y =0;

. y"+8y'+16=0, y(0)=-1, y'(0)=3;
L y'—4y'+4y = 8e”*,;

. y"+8y'+ 20y = 25e ¥ cos2X + 26xe°*;

L y'—y'=e* -cos(e®);

X
— =2X+Y,
x(0)=2,y(0)=2.

y
— =3X+4y.
dt y



BapiaHT 15
1. (1+e")yy'=e*;
Y.
o
. (2x+3y-1)dx—(5x+y—-5)dy =0;

2. Xy'=y+2xctg

w

T

4. Xy'-y = X*CoX, Y(Z) T

5. Xy'—4y = 2x%e*;

Y cos¥ dx — (12cosy+ 2y)dy =0;
X X

6. —
X2 X

7. y"':sin3x+x3;

8.xy"'=y'Inx;

9. yy"'=(y)* = (v)’;

10. 2y'V +4y'+2y =0;

11. y"-14y"+49y =0, y(0)=-2, y'(0)=1;
12. y"+7y'+12y =5xe™**;

13. y"—6Y'+ 25y = 29e¥ sin4x + 30xe**;

N 1
14. y'+9y'=
COS3X
%=—2x+ Y,
15, Ot X(0)=—2, y(0) =—4.
dy
— =-3X+2Yy
dt




BapiaHT 16

1. Sin X - tgydx —_dy:O;
sinx
b v x+2y;
2X—Y
3. (x—3y-1)dx—(5x —y+1)dy =0;

4, y'sin2 X +y = ctgx, y(Z) =1;

5. xy?y'=x%+y°;
1+2de+1_?dy=0;
X7y Xy

6.

7 y"—1+x-
. R

8.y"xInx =2y";

9. y'+(y')? =2e7Y:

10. y''=y'"'+y'-y =0;

11. y"-6y'+10y =0, y(0)=2, y'(0)=-1;
12. y"'-2y'+y = (x? +1)e*;

13. y"—2y'+ 26y =37e*sin5x + 38xe>*;

14. y'-y = 2¢° ;

' X -1
[ dx

a7
15. - x(0)=3, y(0)=-2.

dy

— =—4X+Yy.
dt




BapiaHT 17

. 3e¥sinydx + (1-e*)cosydy =0:;
XYY'= 2% +y?:
. (X+4y-5)dx—(x—-y—-1dy =0;
4, x/l—Ty#y = y2 arcsinx, y(0)=1;
X+ Y =y

dix_x+y2
Ty /2

7. y|||:e2X +X2,

[

w N

ol

dy =0;

8.xy"=y'+xe";

9. y"y+1=(y')*;

10. y''"'-2y"'+5y'=0;

11. y"=7y'+10y =0, y(0)=2, y'(0) =1,
12. y"'-3y'+2y = 2xe”;

13. y"—10y'+ 26y = 41e” cos x + 42xe>*;
14. y'+2y'+2y = e *ctgx ;

— =6X-Y,
15, | Ut x(0) =0, y(0) = 2.

dy
— =3X+2V.
dt y




BapiaHT 18

. e2x

1L.y=—;
Y Iny
X2y =yP Xy + x4

. (2x+2y—-2)dx—(x+y+8)dy =0;

w N

4.y'— 2X y =arctg?x, y(0)=0:

1+x2

5. y'x+y=—xy2;

. 3x%eYdx + (x%Y —1)dy =0:
7.y"'=00S3X —X;

(o2}

8.(X+1)y"'—(Xx +2)y'=eX (1+x)?:

9. y'=2Ww";

10. y'"'-3y"'+2y'=0:

11. y"=y'=2y =0, y(0)=-3 y'(0)=2;
12. y'+y'= X2 +7X;

13. y"—4y'+ 29y = 45e** sin5x + 46xe”*;

X

14. y'-2y'+2y = e

sinx’
%z—x+8y,
15. - (;t x(0) =6, y(0) =0.
o A y.
L dt




BapiaHT 19
1. (xy> +x)dx + (x%y? —y?)dy =0;
2. (2X+Yy)Y'=x+2y;
(—2X+3y+1)dx— (X +y—2)dy =0;

w

4. y'+3tg3x -y =sin6x, y(0)= :1));

2

5. y'—xy =—y°e
6. yzdx—Xerldy=0;
X X

7. y'=Xsin2X;

8.x(Inx+2)y"=y";

9. y'-y'e”Y =(y')?:

10. y" +3y""+2y"'=0;

11. y"+4y=0, y(0)=-1 y'(0)=1;

12. y"—6y'+9y = (x + 6)e**;

13. y"+4y'+ 29y = 49e 2* cos5x + 50xe*;

14. y'-y'= L.
' 1+eX’
Ol—X=2x+ Y,
5, | gt x(0) =2, y(0) =5.
—y:—6x—3y.
L dt




BapiaHT 20
1. 2x2yy'+y2 =2;

2
Y Y
2.y =4+ 1-"—;
Y X+\ X2
3. (Xx+6y—3)dx—(8x—y—-7)dy =0;
4. (1+ x2)y'+y =arctgx, y(0)=1;
5. xy'—y=2xﬁ:
6. (xe* +yz)dx—1dy =0;
X X
7. y'=XC0S3X;
8.x2y"+xy'=1;
9. y'—(y')* =0;
10. y''-3y''+2y'=0;
11. y"+10y'+25y =0, y(0)=1, y'(0)=2;
12. y"—3y'-10y =6xe **;
13. y"—6Y'+ 34y =53e*sin5x +54xe>*;
X

0 A e
14. y'-2y'+y = —;
X

dx =-2X—3Y,
15. 1 at x(0) =4,y(0)=0.
d_y =

. dt




BapiaHT 21
1 y'=eX-x-(1+y?):
2. (X=2y)-y'=X+YVY;
3. (5x+4y—3)dx—(6x -4y -1)dy =0;
1 rcsin X
it S G
5. y'+xy=x3y3;
6. e¥dx + (cosy + xe¥)dy =0;
_Inx

7.y =—;
X

8.xy"'+y'=Inx;

4. y'+

9. y"+2(y')2 =0;
10. y'"'-3y'+2y = 0;
11. y"-13y'+36y =0, y(0)=-2, y'(0)=1;

12. y"+12y'+ 36y =5xe™°%;

N

13. y"+6Y'+ 34y =57e > cos5x +58xe > ;
14. y''+4y = ctg2x;
[ dx
—=X-Y,
15. - O‘l“ x(0) =2, y(0) = 7.
o_ —4x+4y.
L dt




BapiaHT 22

[

. ctgx - cos? ydx +sin® x - tgydy = 0:

2. x-y':y+3x-sini;

w

. (2x+y—-4)dx—(3x+5y +1)dy =0;
4. xy'+y=Inx+1, y(@)=4;

5.y'="e+y;
y

. (y*+cosx)dx + (3xy® +e¥)dy =0;
+_ cos2x_

(o]

7.y"'= :
sin? 2x

1 2 []
8.y +1(y)2=0;
—y

9. yy"+y = (y');

10. y'"V +y"'=0;

11. y"+12y'+35y =0, y(0)=2, y'(0)=0;
12, y"'—4y'+3y = 5xe>*;

13. y"—8y'+ 41y = 61e**sin5x + 62xe™ ;

e—2x
14. y'+4y'+4y =

3

15. 1 x(0)=3,y(0)=—4.
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1. SINX-y'=YyCOSX +2C0SX;

2. xy':y+y-lnx;
X

. (7X—y—-6)dx —(x+5y—-6)dy =0;

w

2xy'-—Y=x, y(0)=1;

X+1

5. y'+3y = e?*y?;
y? 20,0V 1 12

6. xe” dx+(x“ye’ +tg°y)dy=0;
s @)
| x(l+x2)’
8.xXy''= y'+x2 ;
9. ()% +2yy"=0:

10. y'"'-3y'-y'+3y =0;

11. y"-12y'+11y =0, y(0)=0, y'(0)=1;
12. y"-14y'+49y =7e"™;

13. y"+8y'+ 41y =65e** cos5x + 65xe ™" ;

14. y"'—y'=e>Xsin(e):

d =—X+8y,

15. 1 x(0)=-2,y(0)=2.

dt

y

= X+Y.
Y
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1.1+ (1+y")eY =0;
2. (X+Yy)y'=x+3y;
3. (X+y+2)dx—(2x+1)dy =0;

4 ytx-y=1 y()=1,

5. x(x—l)y'+y3 =Xy

6. (5xy2 —x3)dx + (5x2y—y)dy =0;

7. y'"'=XSINXCOSX ;

8.(L+x?)y" =2xy";

9. y"'y=y* +(y)?;

10. y''+y'=0;

11. 16y"+8y'+y=0, y(0)=-1, y'(0)=1;
12. y"+8y'+16y =6xe~*;

13. y"-2y'+ 37y =69e*sin6x + 70e*;

14. y'+y = tg°X:

15. 1 x(0)=3,y(0)=3.
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1. y'ctgx+y=2;

3. (2x+3y—-5)dx—(5x —5)dy =0;
—X

, y(0)=1;

5. (L-X?)y'—xy =xy*;
6. (COS(X + y?) +sinX)dx + 2y cos(x + y?)dy = 0:
7. Y'=X+C0S5X;

, e
4.y+y:1

8.Xy"=Yy'+X°;

0. y"'y = (y')* =y?;

10. y'''-8y =0;

11. y"+9y'+8y =0, y(0)=2, y'(0)=1;
12. y"'-5y'+8y = (x? + x)e?*:

13. y"—12y'+ 37y =73e°* cos x + 74xe®*;
14, y'+2y'+y =3 % /x +1;

x =4xX+2Yy,

x(0)=4,y(0)=-1.
=4X+06Y.

15, Ot
dy
 dt
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1. y'sinx=y-Iny;

2. (x2 —xy)y'+y2 =0;

3. (Ax+3y—-1)dy—(by +x+5)dx =0;

4.Xy'-2y = x3-Inx, y(0) =1;

5. 2x3yy'+3x2y2 +1=0;

6. (cosx — xsinx)ydx+ (xcosx — 2y)dy =0;

7.y"=xe>;

8.y"'—2y'ctgx =sin°x:

9. y"tgy = 2(y')*;

10. y'''-3y'-2y =0;

11. y"-16y =0, y(0)=-1, y'(0) =1,

12. y''+4y'-5y = 4e %

13. y"—4y'+ 40y = 77 sin6x + 78xe**;
—X

(] 1 e
14. y'+2y'+by = sin2x ;

[ dx
—=X+4y,
15. Ollt x(0)=4,y(0)=0.
Y _x+ y.
L dt
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1. €Y sinydx + tgydy = 0;
2. (y2 —3x2)dy+2xydx =0;
3. (X+y+2)dx—(2x+y—-4)dy =0;
4.Y'+2XY = xe ™’ , y(0)=-1,
5. y'+ly:2y2;

X
6. (x2 —4xy—2y2)dx + (y2 —4xy —2x2)dy =0;
7. y'=xInx;
8.(x* +1)y"=4x(y'-1);
0. (y-1y"=2(y')*;
10. 9y'V +6y''+y =0;
11. 25y"-10y'+y =0, y(0)=2, y'(0)=-1;

X

12. 4y"'-4y'+y = (X + 7)e5;
13. y"+4y'+ 40y =81e ** cos6x +82xe **;

14. yll_yI: e2X /1_e2X ’

dx =8x — 3y,
15. dt

N

x(0) =4, y(0)=3.

dy
—— =2X+V.
it y
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1. L+e¥)xdx =e¥Vdy:
y
2. Xy'-y+xeX =0;
3. (2x—y—3)dx + (X +2y+1)dy =0;

, 1
4. y —yth = 3. y(O) = 3;
COS™ X

5. y'+x3)y = 3y;

6. xy2dx + y(x2 + y2)dy =0;
7.y =e¥ 4 %2

8.X(y'"'+1) +y'=0;

9. yy"'-2yy'Iny —(y')* =0;

10. y™—8y"+15y'=0;

11. y"+y'+2y =0, y(0)=0, y'(0)=1;
12. y"'-2y'=3x? +1;

13. y"—6Y'+ 45y =85e> sin6x +86xe™;

14. y"'-3y'+2y =1+

1+e*

ax =3X—-2Y,
15. 1 at x(0)=3,y(0)=0.

dy
—— =2X+8y.
L dt y
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1. y—xy'=3(1+x%y"):
2. 2x3y'= y(2x2 —y2);
3. (Xx=3y+7)dx+(X+y-5)dy=0;

4.y'—X: X COS X, y(Z) =0;

X
5. Xy'+y = y2 InX;
6. 2(3xy2 + 2x3)dx + 3(2x2y + yz)dy =0;

X2

7. yllI:7;
eX

8.xy"=y'+ x>

0. yy'"+y* = (y')* = 0;

10. y"—6y"+12y'—8y =0:

11. y"+y'+3y=0, y(0)=2, y'(0)=0;
12. y"'+8y'= (x —1)e?¥;

13. y"+6Y'+45y =89 ¥ cos6x +90xe "

14. y'+4y'+4y = e ¥ Inx:

[ dx
— =3X+Y,

15. < St x(0)=2,y(0)=0.
Y _ X+ 3y.

L dt
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1. y'/1-x% —cos?y =0:
2. (y? —2xy)dx —x2dy =0;
3. (X—2y+4)dx+(x+3y—-1)dy=0;

, In x
axyry ==~ yl)=2;

y?
5. (X—x3)dx = ydy ;

: . 1 1
6. (S|ny+ysmx+x)dx + (X cosy —cosx + —)dy =0;

7. y"'=x?cos2X:

8.xy":y'+x2;

9. (y')? +yy"=0;

10. y"—-y"-8y'+12y =0;

11. y"+6y'+9y =0, y(0)=-3 y'(0)=1;
12. y"'+2y'-8y = (3x +1)e?*:

13. y"—8y'—52y =93e**sin6x + 94xe**;

14. y'+4y = — ;
sin 2x
3—X:x+4y,
15, 4 Ot x(0)=0, y(0)=3.

dy
— =2X+ 3V.
dt y



